
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med 10 100 000 000

1٫604 × 1000 = ________ 3٫232 × 1000 = ________

2٫226 × 100 = ________ 1٫65 × 1000 = ________

7٫566 × 100 = ________ 8٫209 × 1000 = ________

7٫258 × 10 = ________ 7٫933 × 100 = ________

5٫823 × 1000 = ________ 4٫287 × 10 = ________

7٫918 × 100 = ________ 7٫294 × 10 = ________

6٫815 × 10 = ________ 2٫26 × 1000 = ________

3٫094 × 100 = ________ 7٫327 × 10 = ________

6٫122 × 10 = ________ 4٫085 × 10 = ________

4٫059 × 100 = ________ 6٫907 × 10 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med 10 100 000 000

1٫604 × 1000 = 1604 3٫232 × 1000 = 3232

2٫226 × 100 = 222.6 1٫65 × 1000 = 1650

7٫566 × 100 = 756.6 8٫209 × 1000 = 8209

7٫258 × 10 = 72.58 7٫933 × 100 = 793.3

5٫823 × 1000 = 5823 4٫287 × 10 = 42.87

7٫918 × 100 = 791.8 7٫294 × 10 = 72.94

6٫815 × 10 = 68.15 2٫26 × 1000 = 2260

3٫094 × 100 = 309.4 7٫327 × 10 = 73.27

6٫122 × 10 = 61.22 4٫085 × 10 = 40.85

4٫059 × 100 = 405.9 6٫907 × 10 = 69.07
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